Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name : Surveying-I1
Subject Code : 2TE04SUR1 Branch : Diploma (Civil)
Semester : 4 Date : 26/04/2018 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) Which corrections are neglected in plane trigonometric leveling? 01
(@) curvature  (b) refraction  (c) both (a) and (b)  (d) none of above
b) Which corrections are considered into account in geodetic trigonometric 01

leveling.
(a) temperature  (b) curvature  (c) refraction  (d) both (b) and (c)
c) Indirect leveling can be also used where the ground is 01

(@) small (b) flat  (c) steeper  (d) small and flat

d) Which of the following methods of contouring is most suitable for a hilly 01
terrain?
(a) direct method (b) square method
(c) cross-sections method (d) tacheometric method

e) The stadia method in tacheometry is used to determine 01
(@) horizontal angles (b) vertical angles
(c) horizontal distances (d) horizontal and vertical distances

f) The additive constant for the tacheometer is 01

@! ®: ©fF @f+d

g) In India, curves are designated by 01
(a) degree of curve (b) radius of curve
(c) length of curve (d) all of the above

h) The deviation angle is exactly equal to three times the polar deflection angle 01
in the case of
(a) clothoid  (b) lemniscates  (c) cubic parabola  (d) cubic spiral

i) Shift of a curve is given by 01
L2 L2 L L?

@57 O ©5% (d) 5

j) Generally the transition curve used on highways is 01
(a) cubic spiral (b) cubic parabola
(c) Bernoulli's lemniscates (d) both (a) and (b)

k) Electromagnetic distance measurement (EDM) enables the accuracy up to 01
(8)1x10°  (b)1x10* (c)1x10°  (d)1x10°

I) Microwave EDM instruments were first developed in 01
(@) U.S. (b) India (c) Sweden (d) South Africa

m) Total station is a combination of 01

(a) tacheometer and theodolite  (b) dumpy level and compass
(c) auto level and digital level (d) an electronic theodolite and an EDM
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n) With a single prism assembly, total station can measure the distance up to

@21km  (b)2km (¢)3km  (d) 4 km

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-8

(@)
(b)
(©)

(@)
(b)

(©)

()

(b)

()
(b)

(@)
(b)

(@)

(b)

(@)
(b)

Attempt all questions

Write short note on robotic total station.

Explain any one method of finding constants of a tacheometer.
Limitations of tacheometric surveying.

Attempt all questions

Define and explain trigonometric leveling.

What is Total station? What are precautions to be taken while using Total
station?

Define followings terms;

1. Length of curve, 2. Tangent length, 3. Mid ordinate and 4. Length of long
chord.

Attempt all questions

Derive formula in trigonometrical leveling when base of object is
inaccessible; instrument stations and object are not in the same vertical
plane as the elevated object.

In trigonometric leveling, following observation were taken, find out R.L of
top of tower.

Instrument | Staff Reading Angle of Remarks
Station on B.M. Elevation
P 1.560 11° 15 R.L. of B.M.=150.50 m
Q 1.960 08° 20’ Distance PQ =40 m

P, Q and tower are in same vertical plane.
Attempt all questions

Derive the equation of horizontal distance and R.L. calculation for the
tangential method of tacheometry, when both angles are angle of elevation.
The staff reading taken on a BM having RL 100 m are 0.800, 1.135 and
1.460 with vertical angle + 5°. The telescope is transited. The staff reading
taken on a staff kept over station P with vertical angle - 6° 25" is 1.515,
1.945 and 2.370. Find RL of P and the horizontal distances between BM and
station P. Take tacheometric constants as 100 and 0.20.

Attempt all questions

Enlist methods of setting out of simple circular curve. Explain any one
method with figure for setting out of simple circular curve.

Derive formula for fixed hair tacheometer method when the line of sight is
inclined and staff is held vertical.

Attempt all questions

Calculate first five lengths at interval of 5 meter from long cord for setting
out of circular curve from the following data. Angle of intersection is 60°
and radius of curve is 180 m.

Write initial settings made during field work using total station.

Attempt all questions
Write a short note on “Traversing using total station”
List out various keys on display board of Total station and write down their
basic functions.
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Q-1

f)

9)

h)

)

K)

Attempt the following questions:

A BrsiaHldla d@aRiil suL UL LA 2Aa01R1AM U 9.
() asdl (6fl) N3sa-

() oint () 27 (ol)  (S1) Guu siSusL -l

HRAR BrsiaHldla ddaLinl saL U ARl Al »Ud 9.

B ars (o) asa R Adsa (E) oA (o) A ()
FAl USLRAL ALBTS HIZ dA&RL AL URL Guaiol 53 wsld 9.
(M) - (6ll)  Awe (1) Steeper (Sl) A2 awe

2[Zot-l 1A vealaxil gotin uzel Wiz Alefl ulou 9.

(1) Al weala (6fl) 2012 weala
() siu—[acuen ueala (S1) 23R s weala
2RI RSl v fadAl GuAioL ..., AsSl sRAML AU 9.

(1) sl vy (6l) Gel vy
(1) 2usL »idz  (Sl) 2USL 247 Gl 2idR
2BuIHleR W2 GRR AL 2UAd, Add 9.

(1) f (1) i ) L ()  f+d
= y d
i f

URAHL ASL ..., gl slaaiii 21 €9,

(1) as-l Slall (6f1) asl Brasan
(1) asdl dousS  (S1) Gu -t ola
[QaaAsieL 611612 218l avid 9l [Qadq st su1 BRuxl .

(@) siasSs (o)  cloflzea () sylGis welan  (S1)  syis adsiz
aunisl [Aise el 2L 29 69,

€)) L2 (o) 12 (x0) L (8l L2
24R _ 6R _ 24R ) 36R

AL A &S U GUuAdLHL Adldl dsHeL 59 €.

(1) sylBis Aulsiz (ofl) sulBis Aisla

RO ol Al 232 (1) ol (1) 217 (ofl)
SAs2INARS 2id R HIU (EDM) ol AALecdll U8H 53 69,

(x») 1x10° (el) 1x10* (1) 1x10° (Sl 1x10°
)

HSSIAA EDM Swgfve MAH, ..., 2 [AsAlaAHL Y, o

(R) 3.2 (o) euzda (1) 2ellsw (8l el 2ust
)

2led RAA DL ... 4 [Ba 9.

(1) 233MleR »A RAldisia (el) sl Qaa 247 eistEist
(RA) 2liel Aad 244 Blred Aaa  (9l) Saszilfs aAsisiclse »11 EDM

215 M3 HA0l wd clea RAA ... Bl Yol sdl asia 6.
) 2. B (o) B RL O 3. B (Sl w. B
)

Attempt any four questions from Q-2 to Q-8
Attempt all questions
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(@)
(b)
(©)

(@)
(b)

(©)

(@)

(b)

()
(b)

()
(b)
(@)
(b)

(a)
(b)

gs-la avil eldls 2led 2.
25lHleR AL RaRist sl saidl 51 el 24 Fd AxsLal .
BidsiRHIuA udae-l Hulell auil.

Attempt all questions

BusivlBdla adaeidl carvar 200l 2470 L AHerLal

2lee 22 9 9.

2led AL Guaiol 5l aviad g ALAA2L Al 1 €.
A1AAL ue AHSLl .

(2) as-l dousS

() 2ualsl douss

(3)nzmamAl donsS

(%) €lelarl dousS

Attempt all questions

Busivmdla aaaeinl asa [QlEise 2 Al Wikl 2AMAARYL S1d.

GuseL-L 2L 2L [ARse 221 218 9% Gealer AHAAHL 2UAA A S1A UL ALUEL
GALS laaL HIZ, YARAL

BurstetBdla adail AL 2iaaisl w el era -l 2l aiia Guus el .

BUEVL UL GlAMLS AlAALS a1l 2l ud EXSTERY
Geanel2 vall
0 1c R.L. of
P 1.560 11515 B.M.=150.50 m
Q 1.960 08° 20’ PQ=40m

P 214 Q alaR s o Gealldlr daHi 9.
Attempt all questions

vid 518l HiuA-Al 2uslsla Fami su ol vl Gid siel et AR &laey »id
i ALUE GALS wlEALAL YL HOdl.

100.00 Hl A& GALS Aol dd R-e Gu Gealax siel + 59 ¢ld . -l
ARAALSL ©.00.1.93U.1.¥50 9 2lasiu A JUSHLL SAAUHL 2UAA 9 A&l
£S5 P GuR 15l Geala s12L - 6° 25" i Al AL AlAaAisl 1.49Y, 1.¢¥U.R.390
€ P 2 108 G dal B dd R-e dal e P a2 [Alae »idr eidl.
2sui@e -l Ruzist 100 daul 0.0 dal.

Attempt all questions

aAsl s HizHl Adl wual o a s Ad ugdl el Anesdl.

Aot Hodl R dll Fd 12 a1 exdl vl AR{l eld 21 €5 Geala ussal
el
Attempt all questions

AL Sar wedl adousiz as visar e €ldeflal u u HlAl 2idl vigdei-l
oL IL s 9ensial 60° as-l Breul aco Hl.
(Besas e sl 2led RaAAAL A3l AlSoL duil.

Attempt all questions
Sslla duil. “2led 3 AS HiaL v,
cled AL [32ud oS Gu ] 2l ALl Girilal 24 €2 511 BUULRL Quil.
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